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The number of hits vs. sensor ID
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ADC of raw hits at time bin 0 vs. channel geometry ID
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ADC of raw hits at time bin 1 vs. channel geometry ID
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ADC of raw hits at time bin 2 vs. channel geometry ID
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ADC of raw hits at time bin 3 vs. channel geometry ID
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ADC of raw hits at time bin 4 vs. channel geometry ID
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ADC of raw hits at time bin 5 vs. channel geometry ID
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ADC of raw hits at time bin 6 vs. channel geometry ID
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ADC of raw hits at time bin 7 vs. channel geometry ID
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ADC of raw hits at time bin 8 vs. channel geometry ID
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RMS noise of raw hits vs. channel geometry ID
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RMS noise of hits vs. sensor ID
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Max time bin of hits vs. sensor ID
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Cluster size of hits vs. sensor ID
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Cluster size in Z of hits vs. sensor ID
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Cluster size in r-@ of hits vs. sensor ID
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IST hit map in r-phivs. Z
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IST hit map in APV geometry Id vs. ladder
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Global X vs. Global Y
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Global @vs. Global Z
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Raw Hit column vs. row: Ladder 1 Sensor 1
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Hit mean column vs. mean row: Ladder 1 Sensor 1
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Raw Hit column vs. row: Ladder 1 Sensor 2
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Hit mean column vs. mean row: Ladder 1 Sensor 2
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Number of raw hits vs. EventlID: Ladder 1 Sensor 2
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Raw Hit column vs. row: Ladder 1 Sensor 3
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Hit mean column vs. mean row: Ladder 1 Sensor 3
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Number of raw hits vs. EventlD: Ladder 1 Sensor 3
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Raw Hit column vs. row: Ladder 1 Sensor 4
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Hit mean column vs. mean row: Ladder 1 Sensor 4
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Raw Hit column vs. row: Ladder 1 Sensor 5
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Hit mean column vs. mean row: Ladder 1 Sensor 5
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Raw Hit column vs. row: Ladder 1 Sensor 6
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Hit mean column vs. mean row: Ladder 1 Sensor 6
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Raw Hit column vs. row: Ladder 2 Sensor 1
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Hit mean column vs. mean row: Ladder 2 Sensor 1

=
o
(0
c
@©
5
=

12
Mean Column

Sun Mar 9 18:38:39 2014



Number of raw hits vs. EventID: Ladder 2 Sensor 1 numOfRawHitsVsEventid_Sensor?
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Raw Hit column vs. row: Ladder 2 Sensor 2
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Hit mean column vs. mean row: Ladder 2 Sensor 2
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Number of raw hits vs. EventlID: Ladder 2 Sensor 2 numOfRawHitsVsEventd_Sensor8
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Raw Hit column vs. row: Ladder 2 Sensor 3
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Hit mean column vs. mean row: Ladder 2 Sensor 3
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Raw Hit column vs. row: Ladder 2 Sensor 4
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Hit mean column vs. mean row: Ladder 2 Sensor 4
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Number of raw hits vs. EventlD: Ladder 2 Sensor 4 pumOfRawHitsVsEventid_Sensor10
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Raw Hit column vs. row: Ladder 2 Sensor 5
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Hit mean column vs. mean row: Ladder 2 Sensor 5
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Number of raw hits vs. EventlID: Ladder 2 Sensor 5 numOfRawHitsVsEventid_Sensor11
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Raw Hit column vs. row: Ladder 2 Sensor 6
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Hit mean column vs. mean row: Ladder 2 Sensor 6
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Raw Hit column vs. row: Ladder 3 Sensor 1
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Hit mean column vs. mean row: Ladder 3 Sensor 1
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Number of raw hits vs. EventID: Ladder 3 Sensor 1
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Raw Hit column vs. row: Ladder 3 Sensor 2
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Hit mean column vs. mean row: Ladder 3 Sensor 2
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Number of raw hits vs. EventlID: Ladder 3 Sensor 2 pumOfRawHitsVsEventid_Sensor14
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Raw Hit column vs. row: Ladder 3 Sensor 3
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Hit mean column vs. mean row: Ladder 3 Sensor 3
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Raw Hit column vs. row: Ladder 3 Sensor 4
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Hit mean column vs. mean row: Ladder 3 Sensor 4
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Number of raw hits vs. EventID: Ladder 3 Sensor 4
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Raw Hit column vs. row: Ladder 3 Sensor 5
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Hit mean column vs. mean row: Ladder 3 Sensor 5
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Raw Hit column vs. row: Ladder 3 Sensor 6
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Hit mean column vs. mean row: Ladder 3 Sensor 6
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Raw Hit column vs. row: Ladder 4 Sensor 1
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Hit mean column vs. mean row: Ladder 4 Sensor 1
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Number of raw hits vs. EventlD: Ladder 4 Sensor 1 humOiRawHitsVsEventid_Sensor19
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Hit mean column vs. mean row: Ladder 4 Sensor 2

=
o
(0
c
@©
5
=

12
Mean Column

Sun Mar 9 18:38:40 2014



<slHymel>

flo o oo ™
NN
s~ o~ R
M_ M A N o o
2 o
2 o
ﬁ Lo
|9 >
I|l.2 c c o
F1E g g @ S
5l O O = Ty}
Ell = =2 @ <t
H . 0
S S S S S S S S -
: o
m <
o
o i OO S U SUUUURRN SO SUUURRE SUUUPNL SUURRNE SUUUPPRE o
- m o
(@) :
(7)) :
c : o
%.vu ............. R SO SO S SO SUTO SURUU m
: o
NI m
o w S
L= N S A o)
© :
® m N
- : o
N g
|
> = O
W e S P ) PYFYPPFLY. e %
n w i
> w 5
S LT S
< S
=
© m =
— : :
(D] : :
o g o
S N O o
> AN
zZ

EventID (Time)

Sun Mar 9 18:38:40 2014



Raw Hit column vs. row: Ladder 4 Sensor 3
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Hit mean column vs. mean row: Ladder 4 Sensor 3
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Raw Hit column vs. row: Ladder 4 Sensor 4
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Hit mean column vs. mean row: Ladder 4 Sensor 4
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Raw Hit column vs. row: Ladder 4 Sensor 5
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Hit mean column vs. mean row: Ladder 4 Sensor 5
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Number of raw hits vs. EventlID: Ladder 4 Sensor 5 pumofRawHitsVsEventid_Sensor23
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Raw Hit column vs. row: Ladder 4 Sensor 6
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Hit mean column vs. mean row: Ladder 4 Sensor 6
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Raw Hit column vs. row: Ladder 10 Sensor 3

2

Sun Mar 9 18:38:43 2014




Hit mean column vs. mean row: Ladder 10 Sensor 3

Mean Row

10 12
Mean Column

Sun Mar 9 18:38:43 2014



P o o o ™ <

SN A4 N 5 o

g LN KO

S 7 N oo

£

@

>

o ) >

I|D <« ¢ >

EIE & & QO D | i ioihh i
5|l O O = = : :
Elll = =2 ¥ @

Number of raw hits vs. EventID: Ladder 10 Sensor 3

2000 2500 3000 3500 4000 4500 5000

............................................................

......................................................................

...........................................................................

500 1000 1500

0

N O 00 © ¥ N O 00 ©o < N O
—

N « — —
<slHymel>

EventID (Time)

Sun Mar 9 18:38:43 2014



Raw Hit column vs. row: Ladder 10 Sensor 4

Sun Mar 9 18:38:43 2014



Hit mean column vs. mean row: Ladder 10 Sensor 4

=
o
(0
c
@©
5
=

12
Mean Column

Sun Mar 9 18:38:43 2014



Number of raw hits vs. EventID: Ladder 10 Sensor 4 pumOfRawHitsVsEventid_Sensorss
A Entries 3770
LI o) OSSO UOUOOOOURNUS HOUOOOUROUOO SOOSNUUOOUOO: EUUUOOSOOT SOUOOROOSRUR: SOOSOORRNUO SOOI S Mean 1518
é E Mean y 2.724
g 8 A S A Tt lRMS . 8753
T T i |[RMSY 2,915
14:_ ................................................................................................................................................
12:_ .......................................................................................................................................
1O e R | e B B e B
8 ....................................................................
L (i -
6ttt LR BTt R S
A L Lt kit
“f 'w up, ' M il """"""" A
, [l 'H\, ﬁ@ L i H M, || S S
R ww. U e
O |IIII|IIII|IIII|IIII

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Sun Mar 9 18:38:43 2014 EventID (Time)



Raw Hit column vs. row: Ladder 10 Sensor 5

2

Sun Mar 9 18:38:43 2014




Hit mean column vs. mean row: Ladder 10 Sensor 5

Mean Row

12
Mean Column

Sun Mar 9 18:38:43 2014



Number of raw hits vs. EventlID: Ladder 10 Sensor 5 pumOfRawHitsVsEventid_Sensorso

Entries 3770

<rawhits>

25 prm— s e

..................................................

.................................................................................................

Mean 1518
Mean y 2.622
RMS 875.3

RMS y 2.822

.............................................................

Sun Mar 9 18:38:43 2014

500 1000 1500 2000 2500 3000 3500 4000 4500 5000

EventID (Time)




Raw Hit column vs. row: Ladder 10 Sensor 6

Sun Mar 9 18:38:43 2014



Hit mean column vs. mean row: Ladder 10 Sensor 6

=
o
(0
c
@©
5
=

12
Mean Column

Sun Mar 9 18:38:43 2014



Number of raw hits vs. EventlID: Ladder 10 Sensor 6 pumOfRawHitsVsEventid_Sensor60

. . . . . . . . Entries 3770
L8[ Mean 1518

5 5 5 5 5 : : : Mean y 2.497
RMS 875.3

T e e e e

<rawhits>

o Ry 2

T e e e e e e

| T TR T A

‘V‘:‘ IIIIHI‘| I IIII|IIII|IIII|IIII
500 1000 1500 2000 2500 3000 3500 4000 4500 5000

Sun Mar 9 18:38:43 2014 EventID (Time)




T

Tl

—
O
)
=
o)

0p]

—

—
)

T

s
@®©

—
=
o
0
>
c
£

=
o
o

=

I
=
©

@

Sun Mar 9 18:38:43 2014



Hit mean column vs. mean row: Ladder 11 Sensor 1

=
o
(0
c
@©
5
=

Sun Mar 9 18:38:43 2014 Mean Column



Number of raw hits vs. EventlD; Ladder 11 Sensor 1 numOfRawHitsVsEventld_Sensor61

. . . . . . . . Entries 3770
U SO SO A A T — i Mean 1518

5 5 5 | | | 5 | Meany 4.01
RMS 875.3

<rawhits>
(@)}
o
o

o)
o
o

RMSy  29.88

e
e e e S e

20l

toof

! I i | i | ! '|||||||||||||||||||
0O 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

Sun Mar 9 18:38:43 2014 EventID (Time)




Raw Hit column vs. row: Ladder 11 Sensor 2

Sun Mar 9 18:38:43 2014



Hit mean column vs. mean row: Ladder 11 Sensor 2

Mean Row

12
Mean Column

Sun Mar 9 18:38:43 2014



Number of raw hits vs. EventlID: Ladder 11 Sensor 2 pumOfRawHitsVsEventid_Sensor62

. . . . . . . . Entries 3770
- . | Mean 1518
- Mean y 4.065
RMS 875.3

(o)}
o
o

<rawhits>

500

RSy 3042

400

................

300

............................................................................................................................

200

100

W) '-‘ I I Ghisdl | |||||||||||||||||||
OO 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

Sun Mar 9 18:38:43 2014 EventID (Time)
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Raw Hit column vs. row: Ladder 11 Sensor 4
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Raw Hit column vs. row: Ladder 11 Sensor 5
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Raw Hit column vs. row: Ladder 12 Sensor 3
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Raw Hit column vs. row: Ladder 12 Sensor 5
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Raw Hit column vs. row: Ladder 13 Sensor 2
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Raw Hit column vs. row: Ladder 13 Sensor 3
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Raw Hit column vs. row: Ladder 13 Sensor 5

Sun Mar 9 18:38:45 2014



Hit mean column vs. mean row: Ladder 13 Sensor 5

=
o
(0
c
@©
5
=

12
Mean Column

Sun Mar 9 18:38:45 2014



numOfRawHitsVsEventld_Sensor77

3770
1518
2.496
875.3
2.704

o © < N O o™ © < o
- = o +H =

g . > o
—_ C C :
S g g LWV :
c O 0 = = I A S
== x o m
W | b b
— : :
@) : :
2] : :
c : :
(] : :
| [ .
o™ ; :
— : :
— : :
Q| | T T —
o : i
© : :
© : :
B —
A [ P S i e
o’ P
c : :
(O] : :
> : m :
| o P T ——
% “
> : :
w|l | i T
= ;
© :
— O S
Y— :
(@] :
— : : : : C
N AN
of blornlin e day [
=
>
pZd

<slHymel>

1500 2000 2500 3000 3500 4000 4500 5000

500 1000

0

Sun Mar 9 18:38:45 2014

EventID (Time)



Raw Hit column vs. row: Ladder 13 Sensor 6
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Raw Hit column vs. row: Ladder 14 Sensor 1
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Raw Hit column vs. row: Ladder 14 Sensor 2
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Raw Hit column vs. row: Ladder 14 Sensor 3
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Raw Hit column vs. row: Ladder 14 Sensor 4
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Raw Hit column vs. row: Ladder 14 Sensor 5
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Raw Hit column vs. row: Ladder 15 Sensor 1
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